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PART-1

PART-I. Questions 1 to 67 are multiple choice questions. The correct answer must be marked
in the OMR answer sheet provided separately. Do not write your name anywhere in the
booklet. This may lead to disqualification.

Question numbers 1 to 24 carry (.5 marks each. Please read the questions carefully and select
your response from the options provided.

QL.

Q4.

Q5.

Q7.

Which one of the following associations is incorrect?
(A) Sania Mirza - Table Tennis (B) Saina Nehwal - Badminton
(C) Mary Kom - Boxing (D) Saksh Malik - Wresthng

. The following grouping of the English letters: {(A, J,K),(B,C,D,E, G, P, T, V), (F, H, L, M,

N, 8, X). (I, Y), (O), (Q, U, W), (R). (Z)} has been done on the basis of differences and

similarity in:

(A) Frequency of use (B) Pronunciation

(C) Visual similarity (D) None of these

Perspective drawings are classified according to their number of:

(A) Station points (B) Picture planes

(C) Vamishing points (D) Ground lines

The following symbol represents:

(A) Chenmcal Weapon -’
(B) Biological hazard \ J
(C) Environmental hazard l
(D) Radioactive hazard

Who has not served as both the Vice-President and President of India?

(A) Sarvepalli Radhaknshnan (B) Shankar Dayal Sharma

(C) Kocheril Raman Narayanan (D) A. P. 1. Abdul Kalam

What is the word “Podiatry” related to?

(A) Study of Insects which are nocturnally active.

(B) Study of Medical and Surgical treatment of foot/ankle/lower extremity.
(C) Study of Medical and Surgical treatment of liver and the spleen

(D) Studv of medical care of infants, children and adolescents.

From the given sets of symbols of currencies used in various couniries, choose the set with all
correct symbols.

$EXER $EYETR
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Q8. Which shape of mirror is used in the headlight and rear view mirror of cars respectivelv?

(A)Convex & Concave (B) Concave & Convex
(C)Concave & Plane (D) Plane & Convex
Q9. Which of the following was the main reason for Mahatma Gandhi to propose Khadi?
(A) Promote Handloom (B) Freedom
() Tradifion (D) Self reliance
Q10. Complete the series: abba, bbaa, baab, ?
(A) abba (B) baab
() aabb (D) abab
Q11. Pashtu is the language of:
(A) Algerians (B) Persians
(C) Afghans (D) Arabians
Q12. Select the odd one out:
(A) Hieroglyph (B) Aztec
(C) Inca (D) Mava
(Q13. Which of the following is the correct information about the first planned city of India?
(A) Chandigarh - 1950 - Lows Kahn (B) Chandigarh - 1930 — Le Corbusier
(C) Chandigarh - 1950 - Le Corbusier (D) Chandigarh - 1947 - Charles Correa

Q14. What is the mimmum mumber of colours required to fill the spaces in the figure below without
any two adjacent spaces having the same colour?
(A) 6
(B) 5
(€) 4
(D) 3

1
Q15. Seistmc waves travel fastest in:
(A) Soil (B) Molten rock
(C) Water (D} Flexible rock

Q16. What is the practice of using a network of remote servers hosted on the internet to store,
manage and process data, rather than a local server or a personal computer called?
(A) Personal Computing (B) Random Processing
(C) Cloud Computing (D) Hard Disk Access

(Q17. How is slow-motion obtained in movies?
(A) By filming at normal speed and projecting at slow speed
(B) By filming at slow speed and projecting at normal speed
(C) By filming at faster speed and projecting at normal speed
(D) By filming at normal speed and projecting at faster speed
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(Q18. Based on the following figure, which letter represents Teachers who are mamed and live in a
joint family?

U |:| — Married people
* Q\ R O — People who live in joint family
S
/ = A —> School teachers
(A) R (B) Q () s (D) P

Q19. Which country is not a member of the SAARC?
(A) Burma (B) Bhutan (C) Nepal (D) Maldives

(020. Which of the following conveys the meaning of a metaphor?
(A)A findamental mode of communicating meaning in which relationship between two things
15 suggested.
(B) To commumcate the meamng of an unknown by transposing it into the terms of the known.
(C) My love is like a red, red rose.
(D) All of the above.

(Q21. Which of the following reaction happens, when glucose is added to water?
(A) Exothermic (B) Geothermic {C) Endothermic {D} Ectothermic

(Q22. Select the fifth step to complete the senes.

g : v

A o LCJ o

(Q23. The phrase Gross National Happiness (GNH) 1s a measurement of the collective happiness of a
nation. In which country did this concept onginate?
(A) Myanmar (B) Cambodia (C) Bhutan {D) Thailand

(Q24. Megabvte 1s smaller than Gigabyte. What is larger than Terabyte (TB)?
(A) Yottabyte (YB)  (B) Zettabyte (ZB)  (C) Petabyte (PB) (D) Exabyte (EB)
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Question numbers 25 to 45 carry 1.0 marks each. Please read the questions carefully and select
your response from the options provided.

Q25.

Q26.

Q27.

Q28.

Match the images of leaves with names of the plants that have closest resemblance to the
images given below:

(A) (1)= Tamarind (2) = Neem (3) = Coriander (4) = Mint
(B) (1) =Conander (2) = Tamannd (3) = Neem (4) = Mint
(C) (1)=Mint (2) =Neem (3) = Conander (4) = Tamannd
(D) (1)= Conander (2) = Mint (3) = Neem (4) = Tamarind

Select the letter after the letter in the word SELDOM which is in the same position in
the word as it is in the alphabet.

(A) D (B)E

()P (D) O

Mr Ravi enters a square office building through the east facing entry door located in the middle
of the building and takes the staircase in the central lobby to reach the top floor. He walks south
for 15 meters to reach his office. The office complex has one staircase in the central lobby and
four lifts (on four comers) connecting all floors. An outer comdor connects all lifts and
connects with the entry on ground floor. If Mr. Ravi wants to use the lift instead of staircase, to
come out through the entry door, what is the approximate walking distance he has to traverse if
the floor space of office building is 900 square meters (30 m x 30 m) ?

(A) 30 meters (B) 45 meters
(C) 60 meters (D) None of these

Which one of the four responses is close to the meaning of the following quote by Tao Te
Ching: “Thirty spokes share the wheel's Inib; It is the center hole that makes it useful. Shape
clay into a vessel; I is the space within that makes it useful. Cut doors and windows for a
room; It is the holes which make it usefil. Therefore benefit comes from what is there;
Usefulness from what is not there.”

(A) Usefulness is nothing (B) Nothingness has uses
(C) All wheels have 30 spokes (D)) Objects without emptiness are useless

MDM/82EVI 6



Q29. Read the following passage carefully:

“Until the 20th century, nearly every painting and sculpture produced in the Western world
exhibited a recognizable subject. But in the 20th century the abstract artists have created
paintings and sculptures that have no recognizable subjects at all, presuming instead that the

formal composition is the essential in art."”

Which of the following does not fit with the rest?

ﬁ Broadway Boogie Woogie
by Piet Mondrian

e Le Premier Disque
by Robert Delaunay

Q30. How many surfaces are there in the given three dimensional figure? The surface that is not

visible in the figure is flat.

(A)10
(B)12
(C)14
(D)16

Q31. Which sentence best describes the image below?

o Three Musicians
by Pablo Picasso

©xvn

by Laszlo Moholy-Nagy

(A) Two funny four words
(B) Two funny forwards
() Furmy two words four
(D) Funny words

FUNNY FUNNY
WORDS WORDS
WORDS WORDS
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(Q32. When a square piece of paper 1s folded twice and cut as shown below, which one of the given
options indicates the correct figure when it 1s unfolded (opened)?

- - - -

"
[ ]
I
(]
(]
(]
(]

P EE--_y
]
]
|
i
1
1

(033. What phenomena of physics does this limerick refer to?: "There was a yvoung lady named
Bright, Whose speed was far faster than light; She started one day in a relative way, And
returned on the previous night."

(A) Browman Motion (B) Theory of Relativity
(C) Doppler Effect (D) Tvndall Effect

(Q34. Select the most appropriate sequence of keywords to describe the three frames below.

I":lﬂl\‘lllllwllllVl:il\ﬁ||I"lllll\llllill\‘|l|llll|lllll\‘ll"‘Illllll“qlllllllll1||\|||||||":;||||||||illlll\
I|,| |||| ||| I |||r,.| i

@ | [

'|||”'|I 'II e |I.: —~ II | et - — |I|

WL

(A) Vaid - Tactile - Dense (B) Tactile - Dense - Vaoid
(C) Dense - Void - Tactile (D) None of these
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Q35. Choose the option which represents the mirror image of the alpha-mumeric sequence below:

I7U9K8JOT1H

© |ANoHBI0LTIK ©@HTLOr8MI6NLI
@ |8U9K7J0T1H OHITO18E4VI

(Q36. How many surfaces are there in the given three dimensional figure? The surface that 1s not
visible in the figure is flat.
(A)14
(B) 16
(C) 18
(D)20

Q37. How many surfaces are there in the given three dimensional figure? The surface that is not
visible in the figure is flat.
(A)12
(B)14
(C)16
(D)18

Study the images below and answer question numbers 38 to 41.

cut
o CUT CuT cuT
CUT CuT cCuT

(P 0]
cuT

CUT cuT cut
cuT
o e
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(Q38. For the phrase *Cut to Cut’ which of the corresponding images will be appropriate?

(A)P (B)Q
(C)R (D) §
(039. For the phrase “Cut it Out’ which of the corresponding images will be appropriate?
(A) P (B)Q
(R (D) 8
(Q40. For the phrase ‘Cut above the rest’ which of the corresponding images will be appropriate?
(A) P (B)Q
(CIR (D) S
Q41. For the given phrase “Cut to the chase” which of the corresponding images will be appropnate?
(A) P (B)Q
(CYR (D) 8

Study the images below and answer question numbers 42 to 45.

& B

o e

(0

Q42. Which image can be associated with the word ‘Emotive’?
Q43. Which image can be associated with the word *‘Comfortable™?
Q44. Which image can be associated with the word *Useless™?

Q45. Which image can be associated with the word * Literal’?
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Question numbers 46 to 61 carry 1.5 marks each. Please read the questions carefully and select
your response from the options provided.

Q46. For the given passage, choose the most logical continuation and mark the appropnate choice as
the correct answer. “Why have public expenditures in India failed to deliver basic services to
the majority of poor citizens. When political representatives taking decisions over public
resource allocation depend upon the support of the poor to win office? India is unique in the
developing world not only in sustaining democratic elections fo multiple tiers of government
over an extended period of time, but also in extensive participation in the political process by
its poor and disadvantaged citizens, which by several accounts have been increasing over
time. "

(A)Political incumbents and contenders therefore have to choose policies to woo the large
majority of low income voters in order to win elections.

(B) Political incumbents and contenders are unable to win elections without catering to the
demands of low income voters.

(C)Thus the politicians of all hues have to address to these pressing need of the Indian
democracy.

(D) Thus the political contenders and incumbents ensure the support of poor pecple by any
means, even if they are illegal.

Q47. Choose the missing shape in the given sequence:

I T Ny S ® s 1T @

LR

Q48. “Mangalgiri has always been a weaving centre and boasts of a community hall with the
donations of the master-weavers. The weavers use the hall to discuss their problems and the
master-weavers join in to discuss wage parities and increments. Perhaps the only satisfactory
aspect of the wage structure is that men and women weavers are paid equally. Processes such
as spinning or stretching of the yam are done by others and paid for separately. However,
there are no weekly holidays, no compensation for overtime or accidents, no leave facility or
any medical benefits. If a weaver falls sick and needs cash, the master-weaver advances it
against the weavers' wages. The master-weaver has often been termed the "middleman’”, who
supplies the yarn and markets the finished product. Observers have often suggested that the
way fo improve the standard of life of the crafisperson is fo eliminate the middleman in the
production process. But for the weaving communily, the master-weaver- the so called
middlemean- is part and parcel of the production process.”

Select the phrase that reflect the middleman in favourable light
(A)Supplies the varn (B) Markets the fimshed product
() Part and parcel of the production process (D) Men and women paid equally
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Q49 Study the figure given below and follow the steps given.

H &

30 ®

Step 1 Move 1t 90 degress anticlockwise.
Step 2: Move it 180 degrees clockwise.
Step 3: Flip it about a hornizontal axis

The resulting figure will be:

H % * © @ ¥ (& pn

+ e W+ |+ W ¥ +
[ o [ o)

Q50. If 30% of X =7, then Y% of 30 1s the same as:
(A) 8% of X (B) 7% of X (C)9% of X (D) 10% of X

Q51. A heavy smoker for many years decided to stop smoking altogether. "1 will fimish the 27
cigarettes [ have left.” he said to himself "and never smoke another one." It was his practice to
smoke exactly two-thirds of each cigarette. He soon discovered that with some tape or glue he
could stick the remaiming one third portion of each cigarette to make a new cigarette. With 27
cigarettes at hand. how many cigarettes can he smoke before he gives up smoking altogether?
(A) 40 (B) 42 (C) 37 (D) 52

Q52. Which of the following three figures will form a complete square?

> =1 (D
@ @ @ @ ®

(A)1.3.4 (B)3, 4,5 (©)2.3,4 (D)1,3.5

Q53. Today is 08 Janmary 2017 is a Sunday. The 65 day from today will be:
(A) Monday (B) Tuesday (C) Sunday (D) Wednesday

MDM/82EVI 12



()54, For the given passage, choose the most logical contimuation and mark the appropnate choice as

Q56.

the correct answer: “Poor citizens have little clout with politicians. In some countries the

citizenry has only a weak hold on politicians. Even if there is a well-functioning electoral

syvstem, poor people may not be able to influence politicians about public services. They may

not be well informed about the quality of public services(and politicians know this); they may

vote along ethnic or caste lines, placing less weight on public services when evaluating

politicians; or they may not believe the candidates who promise better public services — for

example, because their term in office is too short to deliver on the promise.

(A)And they may not instead for candidates who provide a promise of a government which 1s
free of corruption

(B) And they may not vote instead for candidates who provide ready cash, personal favours,
and jobs

(C)And they may vote instead for candidates who provide ready cash, personal favours, and
jobs

(D) And therefore they may not participate in the process of voting at all

. Arvind and Rahul were standing together facing the same direction. Rahul then turmed night and

walked away 60 meters, and Arvind turned in the opposite direction and walked 60 meters.
Both turned night again and walked another 30 meters. If you draw a straight line from Rahul to
Arvind what 1s the distance between the two?
(A) 120 (B) 144 (C) 134 (D) 130

Replace the “?™ in the box R of the series M-R with the most suitable symbol from the options
given below:

—E

— — | ?

=

— | || |

A o e (0]

Q57. The average of P, Q and R 1s 45. P is as much more than the average as () 15 less than the
average. Find the value of B.
(A) 45 (B) 25 (C) 30 (D) 70
MDM/8ZEVI 13



(Q58. Read the following passage and choose the correct answer : “Reading is explained as the
primary process of the associative learning by Anderson and Dearborn. A physiological
process, primarily invelves visual perception, but associative learning must oceur if reading is
to be more than mere word-calling” as stated by Barbe(1965). Reading comprehension is a
complex intellectual process involving a mumber of abilities. The two major abilities involve
word meaning and verbal reasoning. Without these there woudd be no reading comprehension;
without reading comprehension, there would be no reading as stated by Rubin(1992). There
are many different views of reading. According to Herber (1970), reading is defined as a
thinking process which includes decoding of symbols, interpreting the meaning of symbols, and
applving the ideas derived from the svmbols Some restrict reading to only the decoding
process. From this point of view, reading is simply a matter of associating symbols with
sounds. The second aspect of reading is interpreting the meaning of symbols. The reader
should not only associate sound with symbol, but also meaning with the symbol, drawing on
ideas he has developed in relationship to the symbol. If the symbol is a word he associates it
with an experience that he has already had Many people successfully decode words but fail to
find meaning in what they read. People are expecied to derive meanings from what they read
Associating meaning with successfully decoded symbols does not complete the total act of
reading. There is another factor known as application. This factor helps people to use what
they have read. Reading cannot be narrowly defined when associated with instruction in the
content areas, as stated by Herber (1970). The definition established earlier includes the need
for development of ideas from reading and, the application of those ideas. As a person reads he
gathers specific information in which he attempts to organize in some fashion so as to identify
relationships among them."
The total act of reading 1s:
(A)associating meaning with successfully decoded symbols
(B) the need for development of ideas and, the application of those ideas
() Response A & Response B both are true.
(D) Response A & Response B both are false

Q39 Arun creates a growing pattern using matchsticks as shown in the images below. If the
arrangement continues in the same way, how many matchsticks will Arun need to make Shape
6, Shape 8, and Shape 10,

ANVAVANAYA

SHAPE 1. SHAPE 2. SHAPE 3.
(A)7,8,9 (B) 13, 17,21
(C) 15, 19,22 (D) 12, 14, 16

M/DM/82 XV 14



60, Study the senes of images below and find out how many footballs will balance a teddy bear.

(A) Two (B) Three
() Four (D) Five

Q61. "Some chimpanzees and gorillas have learned tens of nouns, a few adjectives, and a few verbs,
expressed as signs or symbols. They have sometimes put these symbols together in new ways,
like "water bird" to refer to a duck Bwt they have never been able to sav anything as
sophisticated as "please give me the vellow fruit that is in the bag". That requires syntax.
Chimpanzees and gorillas do not have it."

What does the author imply in the above passage?

(A) Chimpanzees and Gorllas do not know how to communicate

(B) Chimpanzees and Gorillas do not have the ability to make complex meaningful sentences.
(C) Chimpanzees and Gorillas are not intelligent beings.

(D) Language acquisition is ability that Chimpanzees and Gorillas do not possess.

MDM/8ZXVIT 15



Question numbers 62 to 66 carry 2.0 marks each. Please read the questions carefully and select
vour response from the options provided.

Q62. Which option would result from the folding of figure X into a box?

Q63. How many squares can you create in this gnd by connecting any 4 dots? The comers of a
square must lie upon a grid dot

(A) 11 e @
(®B) 15
(©)13 ® © o o
D)9
e e o o
® o
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Q64. How many straight lines are needed to separate cach star from all the others?

E ]
#*«
#
* -
®
* * 2
L ]
£
(A) 9 (B) 13
(€11 (D) 15

(065. Select the most appropriate match in relation to the sequence of images below (from left to
right].

i

(A) Architecture, Technical, Function, Dematenalization
(B) Male, Geometry, Female, Dance

(C) Statue, Toy, Machine, Geometry

(D) None of these
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Q66. Select the most appropriate match in relation to the images below:

LV,
o3

O (K

(A) I=Decephion, K = Impact, L=Growth, M= Entropy
(B) J= Deception, K= Growth, L= Entropy, M= Impact
(C) J= Growth, K= Entropy, L= Deception, M= Impact
(D) J=Entropy, K = Impact, L= Deception, M = Clanty

Question number 67 carries 3.0 marks. Read the question carefully and select your response
from the options provided.

(Q07. There are twelve separate shapes given below. Which combinations of shapes will make two
identical circles?

(A) Circle 1: dtk++tmtf+g, Circle 2: bthtatitete
(B) Circle 1: ctatj+m+ft+g, Circle 2: brkt+htite+d
(C) Circle 1: 1+a+j+m+h+b, Circle 2: g+ftk+ctetd
(D) Circle 1: cthtj+m+f+, Circle 2; b+k+gt+ate+d

MDM/8ZEVI 18



NID Mdes 2017 Answer key

(<]

Ans (Explanation

uooouoxmbwwn—l'z

[
o

O|O|m|[>»| | O|wm|O|T| >

[y
[y

>
@)

Two correct options Eighter B or C carries equal marks.

12

13

14

15

16

17

18

19

20

21

22

23

Ol (O[O O[O0 O] >

24

A,B,C,D [Four correct options EighterA, B, C & D carries equal marks.Those candidate who have
, not attempted the question will get 0(Zero) Marks.

25

26

27

28

29

W|W(>|O|

30

1. 0 Mark to be given to all candidate including thoes candidate who have not attempted the question.

31

32

33

34

>|IO|(O|w

35

1. 0 Mark to be given to all candidate including thoes candidate who have not attempted the question.




36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

C|l@|O|>»|[O|0|0|B|O(>P|[O0|0|0|0|WW|(O|W|Z|O|O0|®|(>|0|>|®

61

iy
O

Two correct options. Eighter B or D carries equal marks.

62

2.0

Mark to be given to all candidate including thoes candidate who have not attempted the question.

63

64

A C

Two correct options. Eighter A or C carries equal marks.

65

66

67
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Question numbers 68 to 69 carry 10 marks each.

Q68 Anger. Disgust. Fear. Sadness. Surprise and Jov are a set of basic emotions.
Draw facial expressions for any five in the space given below and label them.

r— T 4 || Guiseunes -
= Not veccanouy Yodaas) v ebele,
dLn.;.an W et ks Ve - '."]I Esl |

= i a0 Wk e funed deddo ot
Canndl dlads (oony A rtad Tt tr:!'f.l:.i ol e odldhey

. i F“"-MT\JJ-'\""' {_,L,;ﬁu ‘p' MT’"‘-\IJ\-H\ m-.:t'li‘pnt I;J- j
b -+ Qf‘r-TMwM U0, LAre LA_FU\IC,,.-\;E il

% Anon Lo Ll )
Sagh & rar ed. eppreracr L o
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Q69. Below is a set of 4 strokes. Use these strokes to create 4 recognizable objects by drawing in the
space given below. The original images/strokes should remain visible in vour creation. You
may proportionately scale and rotate them. Give a caption to each image.

a b, >
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Question numbers 70 to 71 carry 5 marks each

70, Given below are two figures (A & B). Draw a line on the figures given below in such a manner
that the figure is divided into two identical parts. Use only a colour pen/pencil. Do not use a
black pen/pencil.

Fatlowthe § atletn aondhe e
Fig A ” wnﬂ. I{Z..&‘E"E, kam 1‘tgb gbﬂ)ﬁ

_} e ’M 5 _, /

: lagli~ FAw
Follow patitin E’T’fm""’ﬁ& ot . Ae .
oxga A Jure A4D . I Bitis R S %6‘;‘7{“”%1‘
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Q71. Using only lines (no shading or colour), complete the illustration of the ice cream cart on a
pavement of a street. Draw the following characters around the ice-cream cart: a 5 year old girl
with her 70 year old grandfather.

A
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